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Attempt all questions.
The questions in Sections A, B & C

need to be attempted logether.
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SECTION A (¥Rr-&)

Poo {a) What is the difference between cos accouniing

and financial accounting @ (6}
(b} Explain the following terms in cost accounts -
(1) Opportunity cost
(it} Canversion cost
(i) Amipured cost {9)‘
OR
ta) Discuss ABC analvsis for material contral. (3}

(bt BlackSmith Co. buvs ia lots of 125 boves which iy
a three month's supply. The cost per box is ¥ 125
and the ordering cost is 7 250 per order. The
inventory carrying cost is estimated ar 20% of

unit value p.a. You are required to ascertein :
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(i) The total annual cost of existing inventory

policy.

(i) How much money would be saved by
employving the economic order quantity !

(10)
() T A SR e S ¥ e e 2 7
(@) @ TR & Peeller @ W e i
(i) foereq =0TE
(i) aRad= omr
(iii) FfTE AR
Jral
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(ii)ﬁwﬁmmmmﬁ%%mﬁnﬁr
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2. (a) Explan the treatment of the following items in
cost accounts:
(i) Bonus payable to employees
(i1y fdle time
(iiij Leave with pay
(iv) Bad debts
(v) Carriage inwards (107)

(b) The cost accountant of Y Ltd. has computed labour
wurnover rates for the quarter ended 31-3-2013 as
10%. 3% and 3% respectively under flux method.
replacement method and separation method
respectively. [f the number of workers :'eplaced

during that quarter is 30. find out the number of
(i) Workers recruited and joined
(i) Warkers left and discharged (5)
OR

The following details relate to an intermediary process

in a factory .
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% Degree No.of  Costs
of wiils (F)
completion
\VIi’ (opening balance) : 300 12.300
Materials 50
Labour 80
Overhead 80
Transfer from previous process 100 3.800  1.36.800
Process materials added 7.900
Direct wages 37400
(Overheads 14,960
Transfer to next process {finished) 100 3.500
WIP (closing balance) ! 600
Materials 100
Labour g0
Overhead 80

Prepare :

(1) Statement of equivalent production {on FIFO

basis).
(i) Statement showing cost of each element.
(iii) Statement of apportionment ol cost.

~ (iv) Process cast accounts. (15
P.T.O.
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& frmE & #BY sifraE FoTEd, MR orE 3
gwwwrﬁr%aﬁmsﬂaéﬁraw: 10%. 5% 3T -
3°/oﬁ$%ﬂﬁ%1uﬁwﬁ?@§mﬁﬁwﬁ
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i BT F TR AT
%o WA HEA (T)
o W (HRE I ) 300 12,300
L 50
S 80
TR 80
ﬁﬁ wfFar § R 100 3800 1.36.800
oifs widhar | 7.900
e Hed 37.400
Suites 14,960
and WhEm w1 @ (dar e} 100 3.500
600

T, FE (aAf )

arE 100

e 80

- JuRed 80
G wifem :

(i) qe0 IeureT o (Werm 3 - Ro¥ S U W)

(ii) e weq &7 wo R e faEe

(iii) @RTR - TR

{iv}) wferm AR EEG

P.T.O.
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SECTION B (¥Wi—-&)

3. (a) A practicing Chartered Accountant now spends

7 .90 per km on faxi fares for his clients™ work.
He is considering two other alternatives. the
purchase of a new small car or an old bigger car.

The estimated cost figures are:

New Old
small car  bigger car
Purchase price 7 35,000 7 20.000
Sale price, after 5 years 7 19,000 7 12.000
Repairs and servicing per annum 7 1.000 7 1.200 |
Petrol consumption per litre 10 km 7 km
Petrol price per litre 73.50 7350 |

He estimates that he does 10.000 km annuall_x}.
Which of the 3 alternatives will be cheaper ? If
his practice expands and he has to do 19.000 km
per annum. what should be his decision 7 Al hox-v
many km per annum will the cost of the two cars
break-even and why 2 Ignore interest and income
tax. (10}

(b) Distinguish berween joint products and by-

products. (3)

OR
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A company manufacturing two products furnishes the

tollowing data for a year:

Product  Annual Total Total number Total

output  machine  of purchase  number of

(untts) hours orders set-ups
A 3.000 20,000 160 20
B 60.000  1.20.000 384 44

I he annual overheads are as under:

Amount {T)

Volume relaied activity costs 5.50.000
Set-ups related activity costs 8.20,000
Purchase related activity costs 6.18.000

You are required to calculate the cost per unit of

each product A and B based on:
(it Traditional method of charging overhead

(i) Activity based costing method (13)

(m)wawaﬁaﬁaﬁmﬁaﬁn@%

Eﬁ%ﬁﬁ?ﬁﬁ%ﬂvwz%wﬁf%ﬁaﬁm
%laga‘rmﬁa?ﬁmﬁarfaz@%-qézﬁﬁ
i e W R T8 TR W | e s 5

T ¥

P.1.0.
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Jeme afiem Ez;m W ATE
() A wE men wen
A 5000 20,000 160 20
B 60000 120000 384 i

afs (3
qr dag fhardom & e 520,000
e i e 8.20.000
wie g T ), s 6.18.000

ma%()wﬁmuwﬁqmﬁmfwwmw(ii)
Wmuﬁwﬁvﬁmwﬁiramﬁaﬁ?
mAsﬂ”Baﬁﬂf‘:Tgﬂ‘rémqﬁ?ﬁHW:ﬁ?l

A [irm of contractors’ umdertook a contract for
7 6.00.000 on Octoher 1571997, The lolowing expenses

were incurred up 1o March 31, 1998,

Amount (F)

Matertads issucq_ from jé'mrcs 7.500
Materials sent directly 32,300
Waoes 30.000
Direct u.lm C’ s 3.000

PO,
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The amount of work vertified was 1200000 of which
the contractor reeeived 34 jn cash. The transaction

for the sear 15998-99 wiere as [ollows

Amount (F)

Materials issued fram stores PIE000
Wages 60.000
Direct charaes G000

The cost ol special plant.issued on April 1. 1998 for
the contract was 2 1.20.0500. Ful;lhcr work certifivd
during the year amounted o F 3.30.000 - 3%, of

which was recenved. Wark done and not certified as

con S1-3-99 was valued at T 225000 Special plang is

o be depreciated at 25%5 paa. on thi original cost.
Materials on site were valued at 15,000, The
contract was compicied on 31-7-9% up to which date

the toltuwing firther expenses were inturred

Amount (§)

Materials 1ssued srom stores [0.300
Materials seat direciiy : A
Wapes 22500

Direct expenses 2023

The geiieral overheads wre 1w be tahen at 5% of the

muiterial consumed and:wages paid during the voar,
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Da 31-7-99. the plan: ‘S}-::s valued at F 750000 The
materials at site were .s-\;)l_d For 3 HLIBO0 @l cost and
those returned 1o nlo_i"es amounted o ¥ 19,300,
Transfer 3/4™ of profits received v P&I. accoun
during 1998.99, '\.JO“ ;11'é to prepare canteact aecaunts
and contractees’ z'lccnnnf_“tbr [997-98.1998-H9 and from

Aprib 1. 99-1ih c-_omplct"fqn of contracy. (13
OR

A company has'._[\m production departments-leather
and textile and. two se_r‘:f:'tce departments-stores anid
personnel. ('J\u:i'hcads'bif these four departments as
per primary dislr'i‘nmim’1"‘mmmar\ aned dhirest material

cast aad direct labour ct)sl are as foilowns

L- E l Ldlhu—l Texiile | Siores Iﬁ’cr:ﬂm
| Overheads as per | :
| p]l]]]dl\*dlbllihlltlﬂni C
stmary {3 i . 5.5\)-‘]. 3.08.500 1 300,000 i 39004
Direct material ' 2 |
cost (%) &mmﬁammomem!mmm
, alt I
Direct fabour - l
cost (7) !MMWQTWWW ummu{amm

Overheads of stores are spared by leailier. textile
and personnel departménts in the vatio of 3:4:1 and
that of personnel department are shared by leather,

textife and stores deparbments i the ratio of 2201

PO
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During the month. lmfh'ér dcpai‘l'mcm produced 500
bags and 1.000 shoes dnd le\llle department produced
2,000 trousers and 5.0 }0 shirts,, O\’Clhcdds ol leather
department are .1hxnlb(_d o lhe basis of percentage
Dol direct Tabour cost and that of 10\111&. department
are absorbed on the b*i:.i:. of- [)EILEHI'WL of direct
qraterial cost. Direct cmls of [0111 products are as

follow s

hags Jshoes 7 lmuser.\l shirts

Dnul lalour . . ' l
cost () 200000 | 3:00000°1T 200000 { 5.00.000,

Direct material

cost (T

‘ 00 | @000 ] 2000 | 5000
i
|
|

L0000 12000005 300000 1 2.00.000

You are required o prepare

(i1 Secomdary distribugion summary and computation

A abserpiion rates.

(iir Cost sheet showing total works cost and per

Uil works cost of bags and shoes.

(s Cosl shevt \hl)\\l]‘x" [()1dl \\OII\\ cost and per

unit works cost o’r 1rousers and’ Shirts. {15)

ATl @ v W T | e, 1997 @2 6.00.000 W
v e S 31 W, 1098w el om gw A
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s
A | afim (7)
e & FeifE ww 7.500
Ay it 7 AEEn 32,500
o 30.000
AR W 3.000

rmrfﬁmzmﬁaﬂﬂﬁr ?1"{000 i fred A AR 9
”’4WW§3{TI 998996?%—@%# ¥ T v 2

‘_ a ()
eIt ?ITJETT 1.35.000
LN Cal 60.000
TaE WHR : 6.000

e & frg | w1098 @ Fifi fa W @
2 1.20.000 9wl ‘a%a*hw HRfan wEivE @ w
afii ¥ 3.30.000 1, ﬁmf{ 75% 9rA BI 1 31.3-99 F
ﬁwmﬁ?mﬁmaﬁmz“wmmmwml
%ﬂnmaﬁnﬁ_mqﬁ 250, affe | qeAER o
mlmmmwmm@ 7 13.000 =1 A=
31-T-t)()aﬁgag€lwéﬁawﬁm%ﬁaﬁwumﬁ:q

nq/}
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st (7))
wer o fastfry ammn 10,300
GBI o B el T - 60.000
el 22500
= s 7 225

aren e @ dieer e A e T T @
v, 4T HAQ AN | 313;@9 A was w7 75.000 T
SR A AT A W wdgd wn @ 2 10,500 F 2w
N R ER =z A ‘crr I ? 19.500 9 1 W S
F 3. WA ED [998-99 E% e Tr-wf AR A R
s ( eEr 109798, 19_@8-99 iz 1 oFmE 1999 & @fger
# g B AE A Wﬂu%mﬂﬁﬂmmﬁé@

3N Fe T B o
vE wad & 4 e M- Rk wuw § AR 9 ¥
Frsm - w2/ 3R #TERE B 1

mxﬁ{?famma‘ﬁmﬁwﬁwﬁ%wﬁwam

g5 AR A AT AR W AN gH YR E
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L smertirer faereot
! : . I
Juiad () 1.75.500 3.08.500 {L00.000 | 1.39.000
yegel AR ;
AN () 300000 | 5.00.000 | 1.70.000 1 30,000
- |
S R AN (T 5.00.000 | 7.00000 | L40.000 on.unuj

W & TR W wR, wUE AW Wi fawm & A S
2 seww ¥ mEwE REA W R whm fem o
sqﬁama:raﬁmomwﬁwa‘uﬁﬁ 3000 U

e

WET @ S T FwWm AI500 AR SR 1000 3 FAN 3
mﬁﬁmqmonwaﬁmooomm|wﬁw
t%aqﬁfm?fa%m&x PJ‘TFHTWTFIU%”HHTE?HTURW
g frar S 8 m<_mﬁﬁﬂﬂ%ﬁmwam
AR ) AR maﬁq{mﬁaﬁ‘maﬁ%:'aﬁ
o Ci A et A @ SR R

‘iﬁ [s00 [T rooo | 2000 | 5.000
\ ®| W T | F
COedgr )
Am () 2.00.000 | 3.00.000 | 200000 | 500000
e S

awm ()| 100000 [1200.000 | 300000 | 200000

P.1.0.
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(i) fedmer famoon wwsl 3T srewe R =T T

(i) = ffon =T Hﬁm‘«ﬁ maﬁ RIRIEIEEEE EEi

ARE 29 Al AR HAE

(i) e Frtor e mq‘ﬂﬁram RIS EEAES
i @mrA ZI Al S T

SECT

3. Fhe tollowing is the P&L account ol a manulacturer

ION € (wEr-r)

for the vear 2012

P&LAIC

1w, - Cr.
Particulars Amount |, Particulars Amount
40 T ()
To Materials 38000 By Sales 96.000
['o |abour 36,0000 By Closing stock
UoFinished coods) 20.400
Lo Works expenses 24000 F By WP 6.000
1 Materials 3000
1 ahour 1 800
. Overheads 1.200
To Gross profit Aot
T 122400 . 122,400
To Administrative By Gross T
eXpenses 6.000 1 profit.. 7 14400
Ta Net profit 8400 |. ‘
100 | T4A00




669

19

During the year. 6.000 units were manulactured and

4.800 of them were sold. The costing records show

that works overheads Idve been estimated at ¥ 3 per

unit produced and administrative overbeads

per wnit produced.

Required :

at T .30

(a) Prepare the cast sheet for the year 20012

(b) Prepare @ statement reconciling prolit shawn by

financial and cost books.

()

OR

Explain the following concepts on cosl

(i) Cost unit |

(i) Escalation. clause

(i) Mqterial losses

accouniing

(15}

g f'?l‘f-‘-ffﬁ'HT Tﬂ zrti 20\2"5% fae @ - wE dan e

% |
Dr. P&l AC _ Cr.
Particulars . Amount’ | Particulars Amount
[ 1 AL L
Ein - 48.000. | fasl 96.000
el _' 36.{)005.- SIRGETED
’  (Faw wa) 20,400

PO,
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frrator & =1m Z-J_{]{]Q“f =T, =
Do lameR 3000
| 1800
| uRemy 1200
TAFAT TH }JAUO}_ 7
12200 |
PEIEAET e ) 6@? FEA A
G $.400°
EET

5.000

122400

13400

~14.400

a1 F A oo T fafARR g2 A e | 4800 e
T - Fry el A G # f Frn vl w
73 ouftr zemfzA gmad W?Hﬁ TEEE IR R T 030
gtz ITET T W OWERE @

(., 49 1012 &y awEowE A S )

SCHRC LI i R e EhiE BT i G Sl e

ST TaT |

AT SR TR AR o d

Vi) AT TR
{il) == TS @y

(ifi} woal 7w

(12000)



